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Yesenia is 60 inches tall. Javier is 45 inches tall. How much taller is Yesenia than Javier?

Monique set up her paper this way:
  60 inches
· 45 inches
25 inches
Yesenia is 25 inches taller than Javier.

Is Monique correct? _____
What would you say to Monique?


1. What is your claim?
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
__________________________________________________________________________________________________________________________________________________________________________________________

2. What is your evidence?
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
__________________________________________________________________________________________________________________________________________________________________________________________

3. What is your warrant?
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
__________________________________________________________________________________________________________________________________________________________________________________________
